ILIAZIRDAEICERA] - #RFIRR (5 AKREEIE)

1. FIEIC DIEFETERI 3850 HREIRR
X5 vk ey REHFEL MEANE
PMTE | wmenr | DMIE | e | BMTE | ooy
%18 5 B3 R EREALE 5 B35 R EREALE 5 A% R EREALE
i 5E B R 1,214 28 927 56 532 -21
X &= e 9 4 9 6 7 3
8 = e 174 -30 182 200 -1
b = e/ 758 98 570 28 227 -18
= AN B & 134 76 160 129 6 -2
T Y Y & 107 -7 20 5 -3
EBAGTH 517 29 390 -101 216 -13
g3l BE e 124 -37 50 -18 33 -1
& IS Ve 32 28 4 19
FOM A EIL 117 -7 88 36 46 -4
V_ R
660
SHI6E mAHTE
600
400
204
200 174 161 104 124 117
5 9 32 32
O L] m "2 W
XIZEEIB HFIE BRI FHEIR JERE ZD o)LL
v R
600 542 270
SM6E mESM7TE
400
182 182
200 .
68 5o 52
39 24 28
0 . || —— l
X|Z=IE HHRIE HEIL IR JERERR I Z0 /LR
V_BEAE
300
245
227 SM6E mSM7TE
201 200
200
100 I 50 ac
34 33
19 19
4 7
0 | — N
X|Z=IE HHRIE HEIL FEEIR JEARER I Z0 /LR




2. MEIC SEfERI ER%0-IRERR
X% BRI REAR REAE
- 4‘“\5*5'%;& SR ﬁf”ﬁf L i*%f e
il & B KK K 1,214 28 927 56 532 -21
X = B 9 4 9 [9) 7 3
*® A 1 1 1
% %
Jis'd X 2 2 1 1
TREMEXRE 6 4 6 5 5 3
A = e 174 -30 182 200 -1
R R
= 1T 120 -16 118 -2 147 1
% = 46 -11 56 2 48 1
Z 8 4 4 4 3 2 5
7= g 4 1 4 3 3 2
%3 = e 758 98 570 28 227 -18
B AN B & 134 76 160 129 6 -2
E Y Y = 107 -7 20 5 -3
¥ B2 AN BF B 517 29 390 -101 216 -13
g3l BE e 124 -37 50 -18 33 -1
B =0 ¢ 112 -39 44 -15 25 1
18 E 7 3 -2 3 -4
% & 4 1 2 -2 3
5 i3 1 1 1 1 2
Bt AT BT &
% e
I3 S e 32 28 4 19
B s
TREOLDVLWED 11 -4 9 -2 5 -4
/NI o B A c Ao 3 -4 3 1 2 2
DbWEODYEHE -4 -3 -2
T e E R % 1 r E
MR RERT ELE 17 12 16 9 12 5
0 Mo A E L 117 -7 88 36 46 -4
5B R E 5 W) > 6 5 =Y
AT E 3 1 3 r 1 E
T B & A 27 7 25 12 11 1
2 B E =
BRENZES - ABTE 3 1 3 3 1 1
5 & =
Y B EE 67 -9 17 -4 10 -7
Z 0) 1t 12 -1 38 32 18 13




3. REEIE HRFOR 251 1REIKR
) R REAR REAE
AN AL AN
- o '}qf SRR “j”Hf SRR “5*%75 SRR
4 S LR 758 98 570 28 227 -18
= A % %= 134 76 160 129 6 -2
pacy = =1 27 15 26 21 1
P A H 4 2 1 -2 1 1
= pacy = 1 2 1 1
AT M B Y
& E % U -1 1 1
R R L 1 x
5 A B E L x
5 K B L
5 B E L i i
B w7 R L
g ¥ Fr & L 35 33 31 28 -1
HOE ® L 3 E 3 i
T 5 £ L
T K 2 & L 3 3
=% JE= = L 30 18 20 11 1 -2
Z )] b 33 13 75 71 1
E3 U] ) = 107 -7 20 5 -3
=] ) =] = 5 4 6 5 1 1
R S 3 3 x
=] (3R k=2 = 102 -8 14 -2 4 -3
¥k & A B & 517 29 390 -101 216 -13
B B & i i
B = &
e m U =
L
h il = 6 2 1 -2 1 1
E7N H = 3 -1 3 -3
AT MBS L
B2 O L 5 W
E R R 5 W
F AN B 5 W
Z F h 5 W 2 1 6 2 3 3
wmE R o5 W
0 - E <Y
El b -1 -1
B 5] = 9 -9 3 -8 3 -6
REZ @5 L
B O h 5 W o0 30 57 48 2 -1
% = 5 L 3 ) i i
g & 3% B 5 W 7 2 2 2 2 2
HH R AR5 1 135 X
' F h 5 W 2 -25 2 =27 1
T = H R 5L 1 -5 1 1 -1
Ya) 5] = 237 4 194 -4 138 -6
B % h 5 W 14 -4 3 -5 4 -3
A E h 5 L e X X
0B A B5 L 8 3 4 3
Z D 1t 165 37 111 30 59




4. ThEIARI REIE ERM{EE-IBTER
X5 FOREFEL BFEHE 2
ABe ST E BIEEHALE ST E
i Ay 5 AR BRI (%) 5K
i Vi B wH 999,378 1,214 28 2.4 121.5
L o™ 238,370 344 -85 -19.8 144.3
XK R ™ 76,034 133 25 23.1 174.9
B M ™ 113,686 80 -17 -17.5 704
B OH ™ 92,912 68 =21 -23.6 73.2
;i E ™ 31,591 38 -7 -15.6 120.3
BRI H 38,499 114 80 2353 296.1
m B |k L ™ 26,727 31 -1 -3.1 116.0
oW 20,329 13 4 444 63.9
E H ™ 24,518 37 16 76.2 150.9
X E ™ 60,084 113 21 22.8 188.1
B MR ™ 47,432 53 12 29.3 111.7
E & R ™ 12,883 10 -7 -41.2 77.6
m B ™ 28,379 16 -12 -42.9 56.4
b E H 12,904 15 4 36.4 116.2
AL E ol HY 10,011 6 -3 -333 59.9
A de HT 16,257 4 -3 -42 .9 24.6
/)il ET 4,276 5 2 66.7 116.9
ERGE g B 5,491 2 -2 -50.0 36.4
X I H 6,775 20 17 566.7 295.2
b & WL B|K /H B A 5,679 7 6 600.0 123.3
£ b H 4,434 -4 -100.0
= £ H 7,037 3 3 - 42.6
2 HT 4,443 6 5 500.0 135.0
= L BE = I B 6,249 3 48.0
X B M 2,625 1 -1 -50.0 38.1
g )l A 3,451 1 -1 -50.0 29.0
P R 3,646 3 1 50.0 82.3
= & 6 20,701 17 -1 -5.6 82.1
®E B i -1 13,029 15 5 50.0 115.1
ZIN BT 6,221 4 -9 -69.2 64.3
BB B AE B 11,702 6 -3 -33.3 51.3
R £ M 5,889 7 5 250.0 118.9
= )il H 7,204 10 -3 -23.1 138.8
w=E I E K H 18,344 13 -5 -27.8 70.9
g B ERpEE k& HT 11,566 10 8 400.0 86.5
¥ £ K~ B F - 6 -1 -14.3 -
F1 AOE B0 7 F58 1 HIREOHEHE (BHETRERE) THd.

E2 MEFEE [EF. AO105 ABDOIETEOZRINFERZ D,




